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public class MyTwoSum {

public static int [] twoSum(int [] dataArray, int targetValue) {
int [] ansArray = null;

for(int 1=0; i<dataArray.length-1; 1++) {
for(int j=1+1; j<dataArray.length; j++) {
if(targetValue==(dataArray[i]+dataArray[j])) {
ansArray = new int[]{1, j};
}
}
1
return ansArray;
}
public static void main(String argv[]){
int [] dataArray= {3, 11, 14, 6};

int [] ans = twoSum(dataArray, 9);
if(ans==null)
System.out.println("Null");
else {
for(int a: ans) {
System.out.print(a + " ");
1
}

ans = twoSum(dataArray, 18);
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if(ans==null)
System.out.printf("\nNull");
else {
for(int a: ans) {
System.out.print(a + " ");
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def loopGS(aa, rr,

(isinstance(nn,int)):
if (nn>=0):
result=0
for ii in range (0, (nn+1)):

result = result + aa* (rr**ii)
else: result = None
else: result = None

return result

def recursiveGS (aa, rr, nn):

(isinstance(nn,int)):

else: return None

any : LOOp/Recursive python methods

if (isinstance(aa,int) or isinstance(aa,float)) and \
(isinstance(rr,int) or isinstance(rr,float)) and \

if (isinstance(aa,int) or isinstance(aa,float)) and \
(isinstance(rr,int) or isinstance(rr,float)) and \

if (nn<0): return None
else:
if (nn==0): return aa
else: return (aa*(rr**nn)+recursiveGS(aa,

rr,nn-1))

Loop/Recursive python test prog.

print ("\n===== Loop geometric series™)

print ("GS (a=0.5, r= 2, n= 5 -->", loopGS(0.5, 2,
print("GS (a= 2, r= -2, n= 5 ——>“, loopGS( 2, -2,
print("Gs (a= 1, r= 'a', n=_ 5 -->", loopGS( 1, 'a',
print("Gs (a= 1, r= 2, n= -1 -->", loopGS( 1, 2,
print ("\n===== Recursive geometric series")

print ("GS (a=0.5, r= 2, n= 5 -->»", recursiveGs(0.5,
print("Gs (a= 2, r= -2, n= 5 -->", recursiveGS( 2,
print("Gs (a= 1, r= 'a', n= 5 -->", recursiveGs( 1,
print ("Gs (a= 1, r= 2, n= -1 —-->", recursiveGs( 1,

5))

5))
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'a', 9))

2, -1))
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===== Loop geometric series
GS (a=0.5, r=2, n=5 --> 31.5
GS (a=2, r=-2, n=5--> -42
GS (a=1, r="a', n=5 --> None
GS (a=1, r=2, n=-1 --> None

===== Recursive geometric series
GS (a=0.5, r=2, n=5 --> 31.5

GS (a=2, r=-2, n=5 --> -42

GS (a=1, r="a', n=5 --> None

GS (a=1, r=2, n=-1 --> None
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String date, mCode, type;
Record(){}

} // End of class MedicalInstitution

abstract class VaccinePassport extends Record{
ArrayList<Record> records = new ArraylList<Record>();
void addVaccinePassport(String dd, String mm, String tt) {
records.add(new Record(dd, mm, tt));
}

String printRecord() {
String ss = "";
for (Record rr : records)

return ss;
} // End of printRecord()
} // End of class VaccinePassport

class MyVaccinePassport extends VaccinePassport {
String ID = "A®@EB", name="AAAA";

super();
ID = ii;
name = nn;
addVaccinePassport(dd, mm, tt);
} // End of Constructor
void printMyRecord() {

} // End of printMyRecord()
} // End of class MyVaccinePassport

Record(String dd, String mm, String tt) { date=dd; mCode=mm; type=tt;

class Record 1 4= BE &Y — 1 classes

¥

ss 4= (" --> " + rr.date + " " + rr.mCode + " " 4 prr.type + "\n");

MyVaccinePassport(String ii, String nn, String dd, String mm, String tt) {

System.out.println("Dear " + ID + ", " + name + "\n" + printRecord());
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import ]ava utll Ar‘r‘a)rList;

ain Entrance OOP test program

publ:l.r. class TestDOP 1

publ].c static void main(String[] args) {
Auto-generated method stub
My\!acc:.nePasspar*t myVP ;
myVP = new MyVacc:.nePasspor't("A1234", "Mary", "2021/10/14", "meeel", "AZ");
myVP.addVaccinePassport(“2821/11/24", "meeez", "MO");
myVP.printMyRecord();

} // End of TestOOP
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(1)MyVaccinePassport myVP; // i_szyVaccmePassport%% SEImMyVP
(2)myVP = new MyVaccinePassport("A1234", "Mary", “2021/10/14", "m0001", "AZ");
FE >
MyVaccinePassport(String ii, String nn, String dd, String mm, String tt) ZE#& T
-> ¥k VaccinePassport() 7T
> P Record() A& T
-> iX[A] MyVaccinePassport(String ii, String nn, String dd, String mm, String tt) Z# T
-> addVaccinePassport(dd, mm, tt)
-> records.add(new Record(dd, mm, tt))
-> Record(dd, mm, tt) Z&f#E T
-> ArrayListfyadd() phEg

(3)myVP.addVaccinePassport("2021/11/24", *'m0002", "MQ");
-> records.add(new Record(dd, mm, tt))
-> Record(dd, mm, tt) 7T
-> ArrayListfJadd() BL#L

(4)myVP.printMyRecord();
-> printRecord()
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Dear A1234, Mary
-->2021/10/14 m0001 AZ
-->2021/11/24 m0002 MO
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<form>

54572895 &nbsp;<input type="text" id="myID"><label id="checklD'></label><br>

{55 &nbsp;<input type="text" id="cardNo1">-<input type="text" id="cardNo2">-<input type="text"
id="cardNo3"><label id="checkCardNo"></label><br>
FHESERE&nbsp;<input type="text" id="mobile"><label id="checkMobile></label><br>
<input type="button" value="Submit" onClick=check()>
</form>
<script>
function check(){
var myID = document.getElementByld("mylID").value;
var cardNol = document.getElementByld("cardNol1").value;
var cardNo2 = document.getElementByld("cardNo2").value;
var cardNo3 = document.getElementByld("cardNo3").value;
var mobile = document.getElementByld("mobile").value;

var p_myID = "3E#in A EHES a8 798"
var i;
if(myID.length==10){
if((myID[0]>="A" && myID[0]<="Z") || (myID[0]>="a' && myID[0]<=2"))
for(i=1; i<10; i++){
if(myID[i]>'9' || myID[i]<'0"
break;
}
if(i==10)
p_mylID = "&nbsp;OK"
}
document.getElementByld("checkID").innerHTML = p_myID;

p_cardNo = "ZF i A IERERCR KR8
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if(cardNol.length==4 && cardNo2.length==4 && cardNo3.length==4){

if((parselnt(cardN01)>=1000) && (parselnt(cardN01)<=9999) && (parselnt(cardN02)>=1000) &&
(parselnt(cardN02)<=9999) && (parselnt(cardN03)>=1000) && (parselnt(cardN0o3)<=9999)){
p_cardNo = "&nbsp;OK"
}
}

document.getElementByld("checkCardNo").innerHTML = p_cardNo;

var p_mobile = "5 A IERE T HESRHE",
if(mobile.length==10){
if(mobile[0]=="0" && mobile[1]=="9")
for(i=2; i<10; i++){
if(mobile[i]>'9" || mobile[i]<'0")

break;
}
if(i==10)

p_mobile = "&nbsp;OK"
¥
document.getElementByld(*checkMobile™).innerHTML = p_mobile;

}
</script>





